1 oA 20 74A] 9] ZFA FollAf 11 23] = 7 B AN AY7E?

11 2391 & —» 11 Bt} 2 &=




2.

46.7 ©JAF 55.0 o]5}el AL = H ]

» = 7H

> "e: 9A

47, 48, 49, 50, 51, 52, 53, 54, 55 — 971




12, 13, 14, 15, 16, 17, 18, 19, 20, 21 — 10 7N




4. 4263 vigstel o] pel7iA] Lhebd ot 2estel wlo] zpejzA
Urehdl Sote] e Anteln] FabAl 2.

> =g 8300

4268-2 v Hsto] o] 2] 7hx] YEFYT 4000 ©] 1L, &5k
i o] Zp2] 7k2] YR 4300 Yt
whebaA T 429 SR 4000 + 4300 = 8300 Yt}




5.

352745 2sto] o] Apej7hA] Lhehd 40 v ste] o] AefriA]
b Zoto] A5 Fotola

>

> =g 300

35274 5 ZHsto] ®9] 24 7t2] YERdH 4= 35300 ] 1, H €
sto] o] zE]7hA] YeRH S~ 35000 o]t} whEkA], 35300 —
35000 = 300 °]t}.




n

134725 — 35000
134725 — 34000
35000 — 34000 = 1000

=3
=
=3
=




